
Find the new point. 

𝑓(𝑥) = (2,1)

A vertical expansion by a factor of 2
A vertical translation up 2

Find the new equation. 

𝑓(𝑥) = 𝑥ଶ

A vertical translation up 2
A vertical expansion by a factor of 2

A vertical expansion by a factor of 2
A vertical translation up 2

A vertical translation up 2
A vertical expansion by a factor of 2

𝑓(𝑥) = (2,4)

A horizontal compression of a half
A horizontal translation left 2

A horizontal expansion by a factor of 2
A horizontal translation left 2

A horizontal translation left 2
A horizontal expansion by a factor of 2

A horizontal translation left 2
A horizontal compression of a half
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